Funzioni Trigonometriche

Formuleimportanti:

sert(a) + cos®(a) = 1, tg()

ser(a + ) = ser(a) cos( )

sera — ) = sena) cos(a) — cos(a)sena);
cos(a + B) = cos(a) cos(B) — ser(a)ser(5);
cos(a — B) = cos(a) cos() + ser(a)ser(s).

{Sel’(Qa) = 2sen«) cos(a);

cos(2a) = cos?(a) — serf(a) = 2cos?(a) — 1 =1 — 2serf(a).

Semplificarde seguentiespressioni:
1-4. cos(m — ), tg(7m + ), sen2w — ), cos(—a);
5-8. tg(m — ), cos(3m — a), ser(w + «), senm — «);
9-12. ser(2 — a), cos(Z + ), tg(3F — ), ser(3r + a);
13-16. ser(% + a), cos(% — ), t9(¥ + ),
17-20.1 — sert(a), 1 +tg*(a), tglv cos?(a) — 1.
Risolverele sgguentiequazioni:
21. ser(z) = —1v/2, cos(z) = $V/3,tg(z) = —1, ser(z) = 4
22. cos(z) = —1, cos(z) = 2v/2,19(x) = —V/3, cos(z) = —1V/3
23. tg(z) = 0, sen(z) = —1, cos(z) = 0, cos(z) = —1;
24. tg(z) = /3, cotg(z) = 1, ser(z) = —3, cos(z) = —3V/3.
Tracciare grafici delle sgguentifunzioni:
25-28. ser(z), cos(x), tg(z), cotg(z);
29-32. sen2x), cos(3x), tg(x/2), tg(m — x);
33-36. ser(z + §), cos(§ — ), cos(z + 7), t9(§ — ),

37-40. tg(—2z), sen(m — 2x), cos(m + 3x), cos(2x — ).



